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‘When the arrow head of a windvane points
10 the south, it shows that the wind is °
blowing from
A. North
B. South

C. East

D, West

The following are symptoms of waterbore
diseases.

() Pain in the joints

(i) itching in the lower abdomen

(i) Biood stained stool

(i) Severe diarrhoea and vomiting
Which pair of the above listed symptoms
e for bilharzia?
A @ and (iv)

. @and (i) .
D. @andGi) | A

Heat from the $un reaches plants through
A. conduction
B. convection|
C. radiation | i
D. convectionand coriduction
|

The type of bedk suitable for sucking nectar
shouldbe |

A. long and slénder

B. short and slightly curved
C. short, straight and thick
D. flat with serrated edges

‘The illustration below shows classification

of plants.

Green Nmevn
] z
Flwnluilu Nnnﬁlwurinq
X ¥,

‘Which one of the following correctly shows
‘examples of each of the groups as shown in
theillustration?

X v z
A Maize | Fem Cactus
B Beans | Algae | Toadstool
C. Cactus | Acacia | Mushroom
D. Banana | Cactus | Puflballs

‘When preparing compost manure, wood
ashis added to the contents in orderto
A. ensure even decomposition

B. introduce bacteria

C. speed up decomposition process

D. supply additionalutricnis

Which one of the following methods of
controlling parasites can be efectively used
10 doaway with ticks and liver flukes?

A. Spraying |

B. Deworming |

C. Rotational grazing

D. Dusting

|
The diagram below shows an improvised
liquid thermometer, Itis used to measure
room temperature. I order (o make the
instrument more effective one should:

A. useabetter scale
B. usca wider straw
C. useaplastic bottle
D. uscclearwater (17 b
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11.

12.

13

Which one of the following shows the
CORRECT order of foetal developmentin
‘a human body?

A. Zygote - Embryo - Foetus

B. Embryo - Foetus - Zygote

C. Foetus — Zygote — Embryo

D. Zygote = Foetus » Embryo

The followingare functionsof the placenta

EXCEPT one. Whichone?

A. Provides food for the growing embryo

B. Exchange ofoxygen and carbon
dioxide

C. Facilitates transfer of food

D. Facilitates transfer of waste products

Whichoneof the following processes takes

place immediately aftef the cgg has beer |

released from the ovar

A Implanziion y.
B. Reprod-ction .

C. Fertlission
D. Ovulatsn |

Study the fo0H cBaie{below. (the armow
points to the eater)

Maize Cicfen-yMongoose»Jackal

‘Which one of B above feedingorganisms .-
will belony: o the sime groupas the
‘mouse?

A Maize

B. Chicken

C. Monge se

D. Jackal

Below is
infections,
() Chan wid

(i) Sypl

(i) Gang rhota

(i¥) Gelnit Hegpes

(v) HIV i

‘Which one. zmong the list are caused by
avins?

2 Qi
B. (ii) anc (v)
C. (iv)and(v)
D. (i) and )

lisg pf sexually transmitted

14.

15.

17.

18.

Which one of the following excretory
products isexcreted by the skin, lungs and
kidneys?

A Excess water

B. Urea

C. Salis

D. Carbon dioxide

When setting and carrying out an experiment
on soil drainage, which one of the following
need NOT be the same?

A. Amountof water

B. Amountof soil

C. Typeofsoil

D. Sizeoffumels

The illustration below shows a simple
homemade water filter.

Cotton wool

tter, W as indicated

Which one of the following shows the
correct order of flow of urine from the
Kidneys?

A. Bladder > urcter —» urethra

B. Urethra —» ureter — bladder

C. Ureter - urethra-—> bladder

D. Ureter -» bladder — urcthra

‘When hard water fs mixed with0ap it foems
A lather

B. scum

C. sale

D. fir





[image: image4.png]19. Which onc of the following s the function
of fibeein the dit?
A Absorption of igested food
B. Getting rid of undigested food.
C. Adding nutricnts to the body
D. Helps indigestion of food

20. Lacating mothers need food rich iniron in.
onderto
A protect the young baby against
discases

B replace blood lost during perturition
C. increase milk production
D. develop strong bones in the baby

21 Theiltustration below was set by standard

five pupils o investigate 4 certain property
of matier

ﬂg
L
“The property being inyestigated was
A watex exerts pressure
B water occupics space:
C. sirhasmass
D. sir occupies space

Paper
Glass container
Basin

22, Which one of the following is NOT asign
ofill-health on crops?
A Reduced yields
B Curled leaves
€. Suansed growth
. Wikicg.

23. Farmers keep sheep and goats MAINLY
for___and____respectively.
A mcatand mution
B. dairy milk and mutton
€. mviton and mutton
D. wacat and mohais

24. Which onc of the following shows a pair of
‘substances which CANNOT be scparaiod
easily?

A Wancr amd cooking ol
B. Wascramd salt
C. Segaramd st
D. Cooing floar and st

25, Which ome of the followin: methods of soil
conservation can be ws cffectively to
control the type of soil crosion showa
below?

26. Which onc of the folic - ng is NOT 3
method of gazing?
A Zeso prazing,
B. Hodng
C. Rotsiowa gazies
D. Paddocking

27. Bolow isaclassificaion . a1 om types of

puy
Mr——-.iﬁ
i -

=1 T—= T
Comts Lo gt T E. @ w00
= m am
Which pair of the sbove = will ive the
formes saac outiicats e en?

A Concals amd ol crog:

I Logumes and flbe e, <
C. Fruits and rabers

D. Beverages mnd fibve o5
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29.

‘Aboatmade of iron willfloa on water whike
apinmade of iron too will sink on the same
water. This s because oftheir difference in
A, size
B. shape
b,

The illustration below shows the
reproductive ongan of a plant.

Which one of the above named parts is
incorrectly matched with its function?

32.

33

‘Which onc of the following bottles will
prostuce the highest sound when hit witha
mctal object?
3 R (5

AQ

BS

ce

D R

‘Which one of the following shows the 3%
and 6% planets in the solar system
respestively?

A Eath and Sotum

B Mars and Uranss

. Farth and Uranuss

Partofthe | Function D. Mers and Satumm
flower | _
AW | Autracts nsects for 34 Deytidi
. A silage
fertilsation B rocghuge
B. | X | Receives pollen grains C By
T.|Y | Fertilization takes place B ovneeniess
D. | | Protects the young flowerat) | 35 gue of the following me
bud stage 1

30.

31

Digestion of food does NOT take place in
the

A mout

B. stomach
. smallintes
D. largeintes

nes
s

Which of the

‘ollowing docs NOT have.
2

der

preservation o srves funst i
moisture. & bi<h
A. Useafhoney
B. Canning

€. Use of low v
D. Salting

Wikicks one of the fofle irof





[image: image6.png]37. Theillustration below shows how mattercan | 40. Which one of the following is NOT a cause
change from one state 0 another. of i pollution?
A. Tobacco smoking
B. Spraying farm chemicals
C. Vehicleexhaust fumes

/ W'\ D. Using excess fertilizers
41. i

‘The following are sources of eléctric current

EXCEPT one. Which onc?
-“/ A. Carbattery

B, Generaors

C. Dam

. Solar energy pancls

‘Which pair of processes as shown above:

require an increase n temperaturc? 42, Onc ofthe following shows  pai of major
A JandK non-iving componensof the environment
B KandL  only. Whichone?
C. LandM e A Lightand sound
D. Mand) B Animals and plants
| C. Airand water
O Solandbent |
| 43. B I‘mlbelnuy through the
e
| 155 pulmmmymnry
D, venacava

- |
44.._Which one of the follqwing showsa pair of
storage pests orly? |
A Weaverbirdand seevil
B. Aphids and cutworms
C. Stalkborers and aphids
| D. Rats and termites

‘ z
| 45. Which one of the following methods of
separating mixtures s incorrectly matched
{ ‘with the kind of particles it separates?
N Method ‘The kind of mixture
or particles separated
Which one of the following is NOT a “Dig solid particles
function of the part o the air labelled Zon e i B
the pie chart? . A mixture of light and
A. Supporting buming ¥ heavy solid particles
B. Good for photosynthesis A mixture of small and
C. Prosceves solt drinks large solid particles
D. Making fire extinguishers B sl d
Amixture of magnetic:
partcles





[image: image7.png]46. Whichofthe followinghas thepositionof
theload between the effort and fulerum
wheninuse?

A Wheelbarrow
B. Claw hammer
C. Crowbar

D. Spade

47. Which one of the followingis NOT a way
ofreducing fiction?
A. Usinglubricants
B. Usingrollers
C. Increasing treads
D. Srcalining

48. The BEST way to prevent a child from

getling icketsis o

A. fead the child with foods plenty of
viminD " |

B, feedthe child with foods like fruits
plenty of vitamin (]

€. feed thechild with enoughofa
balanced diet :1 :

D. feedthe ctild wi
pacen |

foodsrich in

49. Which one of the follbwing statementsis | -
CORRECT? Fu
A Water expands whien frozen -
B. Water contracts when heat
C. Waterexpands when cooled
D. Water expands more than solids and
gases when heat

50. Which one of the following is the BEST
‘method of controlling weeds in a nursery
bed?

A. Diggingout

B. Using chemicals
C. Uprooting

D. Slashing

[





